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GCSE Mathematics
Practice Tests: Set 6

Paper 1H (Non-calculator)
Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

e Use black ink or ball-point pen.
e Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
* The marks for each guestion are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
e Read each question carefully before you start to answer it.
e Keep an eye on the time.
e Try to answer every question.
e Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

Use ruler and compasses to construct the bisector of angle ABC.
You must show all your construction lines.

(Total 2 marks)

Peter, Tarish and Ben share £54.

Tarish gets three times as much money as Peter.
Ben gets twice as much money as Tarish.

How much money does Ben get?
Fo T B
{ 5 i o)
) o, 4_
S

LxS. o = 32 ¢

£ DA 40

(Total 3 marks)
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3. Onthe grid draw the graph of x + y = 4 for values of x from -2 to 5
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(Total 3 marks)
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4.

PQRS is a square.

S

All measurements are in centimetres.

Show that the perimeter of the square is 10 cm.

Bp-2 = 4 |
' 2 1¢ = O
3,

, I = o
ﬁ:—ﬂ,wwrm = 4—(m+l)

= Wx 2%

o fEEiMG’f,;:Q = 10 enn ,

(Total 4 marks)
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5.  The diagram shows the plan of a floor.

15 m

= m
Ex 15 = 120" Diagram NOT
8§ m r accurately drawn
’_l e — Sa— — — [
xm
s a(is-»)
L] C

The area of the floor is 138 m?.

Work out the value of x.

Rlis-x) +120 = 138

s - Bx +120 = 138

' 3 = yS+i120-132% = 27
’ N = ?;'l
=

W = 0\

(Total 4 marks)
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There are 40 litres of water in a barrel.
The water flows out of the barrel at a rate of 125 millilitres per second.
1 litre = 1000 millilitres.

Work out the time it takes for the barrel to empty completely.

“f‘of = L"D| Ob"C?m/(

TimME = 40,000 _ lboo . 8320
12 S

I a5 o T seconds

(Total 3 marks)

(a) Work out % + L
5 4
24+S5 - 15
10 20 5
—
.................... ZO oo
@)
|
(b) Workout3— x =
8 5
Give your answer as a fraction in its simplest form.
\ A
> %_S— X 1/ - S/— = , ,’_/{,
25, o+
4
/
..................... (%
(&)

(Total 5 marks)
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8.  Lillian, Max and Nazia share a sum of money in the ratio 2 : 3 : 5

(a) What fraction of the money does Max receive?

2
........... SE- T
2)
Nazia receives £60
(b) Work out how much money Lillian receives.
S %12 = Lo
2 ¥ =94l
£ 9‘4' ......................
&)
(Total 5 marks)
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9. (a) Solvell—4y=6y-3

i1 7 = 654- H—-j

Iy = lO_LJ
= 4 — | ¢
47w

yZIq' ...............................
2)

(b) Solvex*—3x—40=0

(')L-O-S —Xv.._? ) = O

X= cvreerns i g .............................. ,X= % ...................................
3
(Total 5 marks)

10. There are 11 pens in a box.

3 of the pens are red.

6 of the pens are black. P
v tent
2 of the pens are green.

Henry takes at random two pens from the box.

Work out the probability that he takes one black pen and one green pen.

—
fi o i i©

Q/,?— +2’/>x(:’/

(Total 4 marks)
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11.  The size of the obtuse angle in an isosceles triangle is x°.

Write an expression, in terms of x, for the size, in degrees, of one of the other two angles.

’/2 (l?t\«- 2 )

1
12.  (a) Write down the value of 92

|
(b) Write down the value of 8 3

2% =16

(c) Write down the value of k.

(d) Solve 85 = 22m+3
3

= 2
P¥= 2
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(Total 6 marks)
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13.  Tom recorded the times, in seconds, some boys took to complete an obstacle course.

He drew this box plot for his results.

- |

90 100 110 120 130 140
Time (seconds)

Tom also recorded the times some girls took to complete the obstacle course.

Here are the times, in seconds, for the girls.

90 101 103 106 08 109 110 110 111 612

113 114 115 115 @ 120 124 125 132

Compare the distribution of the times for the boys with the distribution of the times for
the girls.

Meyan For Boys (us") Cleper THAN — Medinn  RR
Guas (nz),

TYR For  Bovs (126 —103= %r‘i) CPeaTer Tia~n  FQR
For Gus (17-0g=9aY) ', Quus A Mok (8 CTeAT
jA  THeEIR TimeEs™, |

(Total for 4 marks)

Practice test paper 1H (Set 6): Version 1.0 10



14.  (a) Write 8.2 x 10° as an ordinary number.

(1)
(b) Write 0.000 376 in standard form.
......... 2. \O
(1)
(c) Work out the value of (2.3 x 10'?) = (4.6 x 10%)
Give your answer in standard form.
0:S « lOQ\
T S x 1 0%
2
Sx 1o
(2)

(Total 4 marks)
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15.

A

Diagram NOT
accurately drawn

In the diagram,

OB =b

oC =¢

OC = - 04 oA = 30C = 3¢
3

— 1__»

BD =~ B4
4

Find CD interms of b and c.

Give your answer in its simplest form.

You must show all your working.

i —_> ey
e 2 @ D

(Total 4 marks)
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16. Two events, 4 and B, are mutually exclusive. |, P ( A A f?) =0

P(4) = 0.3
P(B)=0.5

(a) Work out P(4")

f—~0- 8= 07

1)
(b) Work out P(4 U B)
& 03 + 0 -SR0S
ER R SN N
= s Q-2 TFE
(1)
P(CY=0.4
P(D)=0.2
P(C A D)=0.06
(c) Are C and D independent events?
Explain your answer.
Andelentesr te P X pUb) = plcaD)
Lo M= ) = vunvTs 008 = vok
...... S JL T (U SN =)0 o
(2)

(Total 4 marks)
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2x? +9x -5

7. Simplityolly ————>=
plify ¥ 6x> —5x+1

(Pre=t O+ S )
(Z'N\ )(3'1 - | )
= A4S

em———

31—\

(Total 3 marks)
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18.

Diagram NOT
accurately drawn

/
A }nrf — &//’);IB \
i ot/ f“f _."I
ACES P ! e casl 7?% / AncLes SAMe Becpuls
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AL:/—m\JM ARGLES e fsm?af:j' TUANC =

AB is a diameter of a circle.

C'is a point on the circle.
D is the point inside the circle such that BD = BC and BD is parallel to CA.

Find the size of angle CDB.

You must give reasons for your answer.

fqgg’: 0" s ACB 15 Sulbenien 4
A DrﬂMc’&'QQ

A 5 <
P = A% = 4§
2

(Total 4 marks)
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19.
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Each equation in the table represents one of the graphs A to F.
Write the letter of each graph in the correct place in the table.
(Total 3 marks)
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20. Expand (1 +v2)(3 —V2)
Give your answer in the form & + bV2 where @ and b are integers.
B-N2 + 37 - Ny
=Ry NZ - 2
= | + 2%

(Total 2 marks)
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21.  Umar thinks (a +1)? =’ + 1 forall values of a.

(a) Show that Umar is wrong.

(cur)q'.; (a+a)(ck+n) = otk 2a+ |

y = ) 2
Ch2e !l & a1 uviey &= 0 @
Here are two right-angled triangles.
All the measurements are in centimetres.
i i
M Diagrams NOT
e =
\\ accurately drawn
T .
™ (c+ 1)
¢ (a+ 1) \
a
il B
b (h+1)
(b) Show that 2a + 2b+1=2c
2 v Gd
((,xll) Fu (‘o-f*-:) % (C—f' l)
P, P bt Wil = e Qe+
% . ;
R)’T C',.-\'lg-: e L, Necr Lo +2 = L+ |
o dak Yaal s Le
(3
a, b and ¢ cannot all be integers.
(c) Explain why.
Yot Wa| = 2(ar)+l = 0N NvMEER
! Q(_ _ Ohh NvmMEER
’ i x -’M@Eﬁ NTECE
o Q:%XO&N\H "—"':l& Clgi 1)
(Total 6 marks)

TOTAL FOR PAPER IS 80 MARKS

Practice test paper 1H (Set 6): Version 1.0 18



